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JIEAZ K4 oUT IN  TOTAL POINT  HD
1 A U 28 32 60 8
2 REH (B 26 31 57 23
3 H NEE 28 24 52 19
4 HIE —3k 26 24 50 14
5 B BAE 26 23 49 11
6 WA |52 23 25 48 12
7 K 21 26 47 17
8 wE HIB 28 19 47 16
9 ER R 22 24 46 17
10 5T IR 28 18 46 14
11 I E 22 23 45 9
12 e K+ 22 22 44 10
13 PRI FEE 17 26 43 9
14 KA Foh 18 25 43 12
15 K& Fiol 21 22 43 11
16 A H1— 21 22 43 14
17 KiL Frgh 23 20 43 9
18 ARyl 24 19 43 16
19 g =— 21 21 42 15
20 EDINEES 17 24 41 7
21 R BUE 19 22 41 9
22 P W F 22 19 41 10
23 REA B 23 18 41 7
24 CINEE 25 16 41 14
25 MH K 17 21 38 28
26 SEAE HER 15 22 37 19
27 AR = 16 21 37 25
28 fEL 5k 17 19 36 14
29 AR BiR 20 16 36 8
30 TEAR 20 16 36 6
31 E/ Fk 14 21 35
32 I Ik 12 22 34 15
33 HIF 7%+ 14 19 33 26
34 PEI PR 18 14 32 13
35 P B2 21 11 32 23
36 Fi b Bk 16 15 31 18
37 JIAS Bf 18 11 29 10
38 e 14 14 28 14
39 2R ] 17 9 26 20
40 R 52 11 12 23 29
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